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Run 4579 mpswise, accO: All

Enilries: 1096728

Mean: T2285 /- 0.0041

Sid Dev: 43283 4 00029

14
AcciNAccD

Run 4579 mpswise, acc0: Beam ON, Laser ON

—— Helicity==0
— Helicity==

Enitries; 235642

Mean: 11.2390 «- 00012

Sbd Dwev: OLG70E 4+~ 00000

Enitries; 235664

Mean: 11.2741 /- 00072

Std vz 05716 4 D.0004
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1000

Run 4579 mpswise, acc(: Beam OFF

Enilries: 2086001

Mearn: 00G020 4/~ 0.0DD3

Sid Dev: 01668 - 00002

2
AccliNAccD

Run 4579 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==

Enitries: 164532

Mean: 72795 +/- 00011

Sid Drev: 04500 +- 0.0008




Run 4579 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF

AccO/NAccO
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1000
mpsCoda

Run 4579 mpswise, AccO/NAcc0:mpsCoda, beam ON, laser ON
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Accl/MNACCD

Accl/NACeD

Run 4579 mpswise, AccO/NAccO:mpsCoda, beam OFF
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1000
mpsCoda

Run 4579 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF

14

12

10

o

B

rx

=

W

. . Lt - . N . : L e
S B N . h . L, s
ay- - . I I L
- H - kS -

=10

‘:‘|||||||||||:



